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Topic:- General English

1) Find the word which can be replaced for the given sentence.
A person in charge of a museum.

1. Gymnast

2. Jockey

3. Calligraphist

4, Curator

Correct Answer :-

e Curator

2) Find the word which can be replaced for the given sentence.
An annual calendar with positions of stars.

1. Almanac

2. Astrology

3. Horoscope

4. Palmistry

Correct Answer :-

« Almanac

3) In the given sentence there might be an error. Find out which part of the
sentence has an error. If there is no error, mark your answer as (d) i.e. '‘No
error’.



She came home (a)/ by taxi, (b)/ did she? (c)/ No Error (d)
1. (a)
2. (b)
3.(d)
4. ()

Correct Answer :-

4) In the given sentence there might be an error. Find out which part of the
sentence has an error. If there is no error, mark your answer as (d) i.e. ‘No
error’.

She is (a)/ the taller (b)/ of the two women. (c)/ No Error (d)
1. (a)
2. (b)
3.(d)
4. ()

Correct Answer :-

5) Out of the given options, choose the most appropriate one to fill in the
blank.

Earlier people did not know that food cooked.
1. could be

2. must

3. could

4. can have

Correct Answer :-
« could be

6) Out of the given four options, choose the correct Conjunction to fill in the
blank given in the sentence.

her illness, she came to work.

1. Because



2. Hence
3. Though

4. Despite

Correct Answer :-
« Despite

7) Out of the given four options choose one to join the two sentences given
below to make a meaningful sentence.

He says he has a dog.
I've never seen it.

1. Because

2. Although

3.S0

4, Since

Correct Answer :-
« Although

8) Out of the given four sentences, choose the one which is grammatically
correct.

1. I've being working on this report for last Monday
2. I've been working on this report since last Monday
3. I've been worked on this report since last Monday

4. I've been worked on this report from last Monday

Correct Answer :-
« I've been working on this report since last Monday

9) Out of the given four sentences, choose the one which is grammatically
correct.

1. She hid the key in the drawer
2. She has hid the key in the drawer
3. She has hide the key in the drawer

4. She have hid the key in the drawer



Correct Answer :-

« She hid the key in the drawer

10) Out of the given four words only one is spelt correctly. Find the word
that is correctly spelt.

1. Diety
2. Diarrea
3. Dissppoint

4. Dilemma

Correct Answer :-
o Dilemma

11) Out of the given four words only one is not spelt correctly. Find the word
that is not correctly spelt.

1. Contradict

2. Convenience

3. Colonel

4. Compitition

Correct Answer :-

« Compitition

12) Fill in the blank with the correct article.
book which I want is not available.

1. An

2. The

3. No article required

4. A

Correct Answer :-

« The

13) Fill in the blank with the correct article.

My father hardly ever takes day off from work.



1. No article required
2. the
3.an

4. a

Correct Answer :-

14) Fill in the blank with the correct Preposition.
There were hundred people at the lecture.
1. beside

2. from

3. over

4. with

Correct Answer :-

15) Fill in the blank with the correct Preposition.

They will serve lunch noon.
1. among

2. into

3.at

4. with

Correct Answer :-

16) DIRECTIONS: A sentence with an underlined word is given below. Find
the word which is opposite to the highlighted word from the given options.

The rapid growth of opposition to the plan has surprised the council.
1. slow

2. quick

3. long

4, fast



Correct Answer :-

« slow

17) DIRECTIONS: A sentence with an underlined word is given below. Find
the Word which is most similar in meaning to the underlined word.

Our boat took a course contrary to theirs.
1. opposite

2. exact

3. advanced

4. similar

Correct Answer :-
e Opposite

18) DIRECTIONS: A sentence with an underlined word is given below. Find
the word which is opposite to the highlighted word from the given options.

Books were scattered across the floor.
1. collected

2. dispersed

3. thrown

4, torn

Correct Answer :-

« collected

19) A sentence with an underlined idiomatic expression is given. What is the
meaning of the idiomatic expression ‘born with a silver spoon in his mouth’
in the sentence given below?

James doesn't know anything about working for a living; he was born with a
silver spoon in his mouth.

1. None of the above
2. surrounded by poverty and misery
3. born handicapped

4. born into wealth and privilege

Correct Answer :-



« born into wealth and privilege

20) A sentence with an underlined idiomatic expression is given. What is the
meaning of the idiomatic expression ‘A thorn in flesh’ in the sentence given
below?

John was a thorn in my flesh for years before I finally got rid of him.

1. a physical injury

2. None of the above

3. a cause of continual trouble
4. a comfortable position
Correct Answer :-

« a cause of continual trouble

Topic:- General Science

1) Parsec is a unit of:/ TRIA®P ATHS &
1. Time/ JHY BT

2. Velocity/ Ukl

3. Distance/ @W

4. Angle/ BT BT

Correct Answer :-

. Distance/@ﬁ

2) The atmosphere is held to the earth by:/ qzaﬁ@raTgmgam%:
1. Gravity/ T>d gRT

2. Winds/ dig gR_T

3. None of the above/ SWRIgd H I qo\lir:@

4. Clouds/ STdl gRI

Correct Answer :-

« Gravity/ Tod gRI



In induction, the transfer of charges takes place by-/ aTUTﬁ', ST BT
RITFI=IRUT gidT 3-

1. Touching/WWW

2. From a distance/ g3 9

3. Rubbing/?‘T‘sﬁW

4. Either by rubbing or touching/mﬁmmwwq?

Correct Answer :-

e From a distance/@‘@f

4) Ball bearings are used to-/ Sfd fSafeT yan fHa wima 8-
1. Remain same/B?ﬁ@-lﬁﬁ?%ﬁ%ﬁN

2. Increase friction/ I¥U gg¢MH & forw

3. Optimize friction/ 9901 & UgTed H= & forg

4. Decrease friction/ ONUl &H & & 1T

Correct Answer :-

e Decrease friction/ﬂWWW%ﬁ‘lﬁ

5) The element used as the index of the wealth of a country is—- /3 & Y7 P
a® & U § UGN fHa1 9 aTel aed &1 A1 8?2

1. Platinum/@ifeTq
2. Mercury/URl

3. Aluminium/TegHIay
4. Gold/gHT

Correct Answer :-

. Gold/gHT

6) In cactus, the spines are the modified: ATTEL § Bie fFraeT FUaid oK ©:
1. Stipules/SI¢l T

2. Leaves/uftrn

3. Stem/d-l

4. Roots/ SIS



Correct Answer :-

« Leaves/afmr

7) The soldering wire is an alloy of /<i®T aR fFu®T Tx fry urg 8-
1. Lead and tin/@s 3R feT

2. Aluminium and lead/TegAfAaH 3R TS

3. Copper and aluminium/®IHR 3R TegHfad

4, Copper and tin/PIR 3R feq

Correct Answer :-

. Lead and tin/?18 3R fed

8) Where is bile produced?/ i< %81 34 gdT1 82
1. In spleen/ GﬂETff

2. In heart/EE'aff

3. In blood/ X&d &

4.In gall bladder/ Tid&te H

Correct Answer :-

« In gall bladder/ Ticisciex |
9) Conduction is possible-/ I IPT gl 8-

1. Bodies should be in contact and should have different temperatures/ aﬁ&ﬁaﬁﬂmﬁ
¥ 1 71 B T §6 S AT WR g A1t

2. When the bodies have some temperature and in thermal contact/ GIHWQWHTC[
81 9 ardia d J g

3. When the bodies are apart from each other/ 5d a0 U g ¥ JUSH Bl &

4. When they have different temperature maintaining distance between them/waﬁﬁ
i a0 IR 81 9 3% A g arRyd @

Correct Answer :-

« Bodies should be in contact and should have different temperatures/ d%g&ﬁﬁ TP

T 1 T 81 dUT 35 (9 19 U1 g 41 difed



A device which converts mechanical energy into electrical energy is known

as: /TP SUDVT Y FiAP o1l ) fagad Seil § geadl 8¢ Heardl g:
1. Microphone/ﬂl?gﬁtﬁq

2. Generator/SFReR

3. Electric motor/fagad Ale’

4. Lever/diaR

Correct Answer :-

. Generator/STRex

11) Rhizobium is a kind of/ ISSIIH TH UPR Fl............. 82
1. Symbiotic bacteria/ Fgsildl SiaTy]

2. Parasitic bacteria/ GRSiId} SidTy]

3. Photosynthetic bacteria/ TobTRT HIYUT S dTell ST

4. Saprophytic bacteria/ gdlgsitdl Sitarg]

Correct Answer :-

« Symbiotic bacteria/?l"s’Gﬂ"qprﬂaTUl

12) To become stable, metals:/fRR I & forg, Uy #:

1. los eIectronsEﬁHﬁ‘ﬁWW@ﬂT%l

2. gain eIectrons/é@IH@ﬁWFﬂ‘l-r%ﬁﬁT%l

3. neither lose nor gain electrons/Saiagi-l &1 3T Y& g sl 5|
4. lose or gain electrons/3dagi-l &I TG UGH I 6|

Correct Answer :-

 los eIectronsEﬁH@'\I&ﬁWWﬁﬂT%l

13) Compound of a metal ‘M’ is M,03. The formula of its nitride will be-/ YTq

‘M’ F ATRITSS BT JAT M503. § Al SHP TSRS BT I SITI-
1. MyN;3
2. M3N,
3. M3N

4. MN



Correct Answer :-

« MN

14) When iron nail reacts with copper sulphate solution, the reaction is

called/SId @81 BId didl Tebe faaa & J1Y Ufaferar sxar g, f ufaferar o) a1 sg1 s
g2

1. Replacement reaction/fd=yTo= Ufafehar
2. None of the above/3TH ¥ B3 gl

3. Reduction reaction/3{0aa- Hfdfsar

4. Displacement reaction/[aRITY Ufdfebar

Correct Answer :-

« Replacement reaction/Sfd®ITa Hfdfdar

15) The fertilized cell is called-/ fARfad 3v3 F wed 8-
1. Embryo/ Y01

2. Uterus/ 4R

3. Foetus/ My fRIg

4, Zygote/ gIHAS

Correct Answer :-

« Zygote/ gIHAS

16) Which of the following metals occur in their pure state?/ﬁ'ﬁﬁﬁﬁ?—'\‘ﬁmﬁ
T[S ITRIT H UTE STt 32

1. Copper/ﬁfl?
2. Iron/3ARA

3. Zinc/SIxdl
4. Gold/aAT

Correct Answer :-

. Gold/dMT

17) Which of these form virtual images only?/ 98 ¥ S19-91 dad mHRA ufafawa
g FATar g?



1. None of these/s_rlﬁ@fﬁ's::@'
2. Convex Iens/B?IFT@TH

3. Convex mirror/G’ﬂFfE{CfUT

4. Concave mirror/ 3aad guur

Correct Answer :-

« Convex mirror/BT"lFTE'CfUT

18) Milk is converted into milk powder by-/ g4, g4 & gui # uRafdd giar &-
1. Bottling/ SreferT

2. Dehydration/ ERARL:ARE]

3. Canning/ BT

4. Vacuum drying/ ﬁTﬂrﬁQIEb_vf

Correct Answer :-

« Dehydration/ Sd fAsh A

19) Organisms lacking a nucleus and membrane-bound organ cells are

called:/ 3 Sa RF# I a1 Reeht aRew HIR@T srgufR@ 819 8, Feam 2-
1. Haploid/ Jifora

2. Prokaryotes/ M aifed

3. Eukaryotes/ m

4. Diploid/ ﬁ’]ﬁlﬁ

Correct Answer :-

« Prokaryotes/ M Rafed

20) You have two nails, one with sharp end and other with blunt end. If you
apply equal force on each, the nail that will be hammered first will be-/ 3P

U ) P €, T e AR ara 9 gt iy Ry areltl afe ey S w99 a9 a8, o
Fid ot Ugd gA-

1. None of these can be hammered /Eﬁzﬁﬁ@fﬁ% 1} T8t ST ol Tebet
2. The nail with pointed/ ®ta foTTesT RRT dieor Jeoiar §
3. The nail with blunt end/ ®Id forgeeT RRT HiRT 8

4. Both will be hammered in same time/ & A 999 H 3! SR



Correct Answer :-

« The nail with pointed/ ®Id foraaT Ry feor Toien 8

Topic:- General Knowledge

1) As per the MP State Tourism Policy 2012, the activity/activities under
ecotourism and adventure-tourism is/are:/ Q’H‘d’fﬂwqﬂ?qﬁ’lﬁ 2012 afa-l'-;NT\’,
g ¥ ¥ S nfafafamfafafial st aur arefie weq & siavfa smem?

1. None of the above / SRI& & I B Al
2. Camping | BIRRAT

3. Elephant Safari / TEthe IHRY

4. Both of the above / SWRId &I

Correct Answer :-

« Both of the above / SWRIad gl

2) Since which of the following months does the winter usually start in

Madhya Pradesh?/ 9 & @ ®19-3 711 9 7eg ue= § Aféar 3= gt 82
1. November/ FdsR
2. January/ S

3. October/ 3fdqgak
4. December/ T&OsR

Correct Answer :-
« November/ ddaR

3) On which of the following rivers is the Dhuty Dam built? /fafafead afeai @
¥ et arer fore At wr FAffa 82

1. Sindh/ Rig

2. Betwa/ 9ddl

3. Wainganga/ I
4. Mahi/ gl

Correct Answer :-

. Wainganga/ 397



4) On which river is the Keoti Waterfall situated?/ Ffe stayurd ferg 78 = fRua

8?

1. Chambal/ T¥d
2. Shipra/ R

3. Ken/ A

4. Mahana/ HgIHl

Correct Answer :-

« Mahana/ HelHl

5) Igbal Award is presented to honour creative writings in

literature./ SHATA REDR IR § TTATHSD A BT AT B & (o8 UKgd
frarSTaT 21

1. Kharosti/ @RS
2. Urdu/ 3§

3. Persian/ HRE!
4. Hindi/ &<t

Correct Answer :-

. Urdu/B‘gf

6) How many days does the Lokrang Festival of Bhopal go on for?/ U@ #
BT HEIeId fha- &1 a& gadar 82

1.4
2.3
3.5

4.6

Correct Answer :-

7) In which district of Madhya Pradesh is Bawangaja (Chool Giri), an
important Jain pilgrimage centre located?/ T& Wg@yul 9 didamn &g ardwmen
@@ il rr U F HH- A R A fRE 2?2

1. Vidisha/ fafew



2. Chhindwara/ fe&garer
3. Sagar/ 9d"R
4. Barwani/ Gﬁa’aT:ﬂ

Correct Answer :-

« Barwani/ aeaT:ﬁ

8) In which of the following districts of Madhya Pradesh is the ‘Phadke
Studio’ situated?/ ‘BsF LSU" AH U & - | fora A R 82

1. Dhar/ YR
2. Ujjain/ I
3. Satna/ gd-i

4. Rewa/ Jar

Correct Answer :-

9) In which of the following river valleys was the fossils of the skeletal

remains of Rajasaurus excavated?/ fFafeRaa <} arfedal # ¥ forg Fd-ardl =
TCTRIRY & HHTd AT & ST} BT Ica= g3l U2

1. Chambal / 9¥d
2. Betwa / Sddl
3. Narmada / TeieT

4, Tawa /ddl

Correct Answer :-
« Narmada / THar

10) In which of the following years did the Madhya Pradesh team finished as
Runners-up in the Ranji Trophy?/ 9 & & f&a af & weg wezr ot v vureh erwt o
Jufaerdr s+1?

1. 1999-00
2.1997-98
3.1998-99

4. 1996-97



Correct Answer :-

« 1998-99

11) In which city of Madhya Pradesh was the famous actor Sharat Saxena

born?/ AWK & PHIF-A XER H fa@a fiHar IR TR BT 51 g1 UT?

1. Jabalpur / SIdc4R
2. Hoshangabad / BIRITETG

3. Bhind / TS

4, Satna / |d-l

Correct Answer :-

e Satna/Iddl

12) After India's independence, Central Provinces was created with its
capital as:/ HRd &1 TSIl & q1€, AT Uid B I &1 A2

1. Nagpur/ T4}
2. Indore/ Ea?
3. Pune/ gU!

4, Raipur/ YR
Correct Answer :-

« Nagpur/ ARTgR

13) Who is the head coach of the Madhya Pradesh Cricket team?/ HY U
P M T I PP e?

1. Harvinder Singh Sodhi/ gRfdax Rig 9!
2. Balasaheb Tate/ EHFHW%HE?

3. Ankit Dane/ 3ifdrd S7

4. Mayank Agarwal/ % 3fard

Correct Answer :-

« Harvinder Singh Sodhi/ gRfdex Rig die!

14) Which of the following districts of Madhya Pradesh is the largest
populated district in the state? / A0 Ue¥ & fAufefad fora & | wi4- a1 foren sy &1



e 3iferes e} aren foren g2
1. Indore / 3R

2. Bhopal / Hara

3. Gwalior / TaTfeRR

4. Rewa / 3far

Correct Answer :-

. Indore/%ﬁ?

15) Which of the following states is to the west of Madhya Pradesh?/

Frafafad 7 | 19- 91 30 79 U & ufiy § fRUT 82
1. Chhattisgarh/ UG
2. Uttar Pradesh/ 3T% USRI

3. Gujarat/ SRId
4. Maharashtra/ HeRIY

Correct Answer :-

« Gujarat/ TSRId

16) Where is the Baz Bahadur’s Palace? / ST5l 98TgR T Hgd Hgl (U 82
1. Chanderi / Tt

2. Hoshangabad / @W

3. Bhopal / Hard

4. Mandu / AIg

Correct Answer :-

« Mandu / AIg

17) When did the Namami Devi Narmade Sewa Yatra conclude?/ THTH 34t 9He
AT g1 B G Hd §3?

1. May 15/ 1578
2. May 20/ 20 9§
3. May 25/ 251§

4. May 10/ 1073



Correct Answer :-

« May 15/ 1573

18) Where has the Hindustan Coca-Cola Beverages Pvt Ltd planned to build a
grou.nd-breaking state-of-the-art plant?/ %ﬁﬂm—maﬁﬁmm
A HEl W ATYfe wWie §9M $t A1 5915 82

1. Hoshangabad/ BIRITETG
2. Sehore/ ¥R
3. Satna/ 9d-l

4. Rewa/ Jar

Correct Answer :-

. Hoshangabad/6;1121'1TIE|17&r

19) Maithilisharan Gupt was a renowned: /AR TEtEaRIE_ 31
1. Educationist / ﬁ[&ﬂﬁ'c{

2. Journalist/ TA®R

3. Poet / dt

4. Scientist / dRMHD

Correct Answer :-

. Poet/ﬁ

20) Other than Madhya Pradesh, the Betwa also flows through:/ AU &
3[ITdT, 34T Hgl 98l 8?2

1. Gujarat/ T]eRTd
2. Maharashtra/ HERTY
3. Uttar Pradesh/ 3TR Uel

4. Chhattisgarh/ BTG

Correct Answer :-

. Uttar Pradesh/ IR Ucxl



1) JAfr AT :
1. 3T TR iy

2. U TR Y

3. o iy

4. oot ifer

Correct Answer :-

2) ‘Pl Fgfe o HIad A3, IHd ATY Yudt 97 a1~ tfR A 1 :
1. 3 DR
2. GEIfad bR
3. IOhITaT SSADR

4. AfaRANTET 3TPR

Correct Answer :-

3) ANRPR] I T&T P o Tad ST TIie0- TR 2
1. FYYTR® W=

2. oo aRTE® TR

3. fammatys T
4. AT ga® G

Correct Answer :-

Correct Answer :-



5) ‘w'mmaﬁﬂﬁ%:
1. Y[
2. B0

3. XY gl arall

4. HIc

Correct Answer :-

6) ‘Pl ST YeTaX T IATIA R :

1. 3¢71 T fod &1 s

2. 3ad g4t

3. 3TRIHT Y fad BT YSH1
4. Y 9 o &1 ygH

Correct Answer :-

. Iad gt

7) g9 Gd el 3R ATdT fUdr &1 719 AR FR’- I 3

1. RIS T
2. RWINdn dlay

3. fAYTTaas

4. Jharde aIq

Correct Answer :-

o QTWIN[dP dlad

8) ‘A UG H AT § :
1. 3/egdiHTg

3. HHYRY



4.8

Correct Answer :-

9) greiTaTe ford & ael Wi areft wgw el B
1. TSt
2. gaelt
3. qUat
4. HTeqt

Correct Answer :-

10) ‘YHT’ Xeg BT YATTAT & :
1. Hedl

2. Qo

3. 3o i

4. 3

Correct Answer :-

. Iad gt

11) ‘Horticulturist’ BT &} afeuTis 2reg 8 :
1. UGUTerd

2. TTGURIRAL

3. 3 faivg

4. UTGUIL

Correct Answer :-

. IgH foa=ivg

12) I FIfaaH U< 7 :
1. 2%



2. gdal
3. fg
4. 39 i

Correct Answer :-

. Jad gl

14) AR 3R Fwfor yH1RE giaT g :
1. IR

2. YIOTd 9

3.36R ¥

4. SIIAR I

Correct Answer :-

. Yo J

15) HUTd | SNford guid fay R wa &1 g fawg ot
1. fay v W &t

2. TGUT HTWHY

3. &<t 3iR et tich

4. &4l S7a: fovaR SR WHTEATg

Correct Answer :-
. & oTa: foarR 3R GHTamg



16) fafefad | faed Treg-gw 781 2
1. OR-0R

2. UG3M-GRal

3. W-EH

4. fAafd-ama

Correct Answer :-

17) FeafafRa A g o @ :
1. THTd: 3T I8 AT S|
2. 8 Bd R Y IR UgT|

3. 3ol d I ST | T 37T 872
4. JYUTTHAT A §XA1&R B fea|

Correct Answer :-

. 3O Al ST H T 37T 82

18) FufifIT A s s 8 :
1. ORI
2. T

3. B[
4. IR

Correct Answer :-

19) fmfefea o auraia fiemde s-gua e :
1. TeA-TTel

2.7[e-[e
3. eRR
4. Faar-tan

Correct Answer :-



20) YT YUY ‘yfyer #) pfa 2
1. 3R d¢ FW

2. 9¢ J IS& d&

3. AT
4. 3MRAR U911 g e 79

Correct Answer :-

. I9E Y TSP db

Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series: /&= zﬁgﬁ
HEIT 40ft § e Ug 1d Y|

15, 28, 45, 64, 85, 116, 147

1. 64

2.116

3.28

4. 85

Correct Answer :-

2) Each interior angle of a regular octagon is:/T® Y HT YA 3id: BT fha-n

g1 82

1.90°

2. None of these/SH I s gl
3.135°

4.120°

Correct Answer :-

« 135°



A 570 meter long train crosses a platform of equal length in 15 seconds.
What is the speed of the train in meters/second?/570 Hiez @it Ya@mst 3ru
foraeit TS 9T WewTH $I 15 Ydbvs # UR Hdl 8 | IeTS! 31 1fd 8 (Hiez/ Gdvs #)

1.76
2. Cannot be determined/ﬂTﬁﬂ%’fWGﬂW
3.38

4. 54

Correct Answer :-

4) The roots of the quadratic equation y2- 11x + 30 = 0 are: / fggTa GHi®vor y2-
11x+30=0 aﬂlﬁ%

1.8,5
2.6, 5
3.7, 5
4.-6, -5

Correct Answer :-

5) ABCD is a parallelogram, AB = 14 cm, BC = 18 cm and AC = 16 cm. Find
the length of the other diagonal? / ABCD T& WHT<R agyvi 8, AB = 14 ¥, BC =
18 It 3R AC = 16 Tt 7, it g faw ol Ft arars 79 B

1.32 cm/32 IH
2. 28 cm/28 qHt
3. 26 cm/26 JHt

4. 30 cm/30 It

Correct Answer :-

. 28 cm/28 It

6) A train crosses a 300 meter long platform in 38 seconds while it crosses a
signal pole in 18 seconds. What is the speed of the train in kmph?/@iﬂ"ﬂ@ﬁ
300 Hiex T WewTH B 38 AHUS W UR Hdl 8, JAaih Th TY Bl 18 APHs & UR HId! 7,
AN YTS) B} i fopet /gver H w82

1.72



2. Cannot be determined/ﬁﬁﬁmww
3.48

4. 54

Correct Answer :-

7) DIRECTIONS: What should come in place of the question mark (?) in the
following series?/fAdxr: Fafafad vt & uyars fog (2) & R R F1 3T A1f3E?

-1,0,?, 8,15, 24
1.3
2.4
3.2

4.1

Correct Answer :-
« 3

8) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ fe=r: fFr=TafEd U= ¥ u=a™® fRIe (?) & I W |1 3T

q1feu?
777777 + 11 =?
1.777

2.70707

3.70700

4,.7077

Correct Answer :-
« 70707

9) 9 men can complete a job in 20 days. If a woman works at one-third of
the rate of a man, in how many days can 15 women complete the job?/9

3T fplt w19 3t 20 foT ¥ W1 H 9Fd 71 Al T 3R Ft drderar uw el &
PRI HT TP 915 8, @ 15 3Nvd foran i o ord &1 1 o2 aaddi 22

1. 30

2. 36



3.48

4.24

Correct Answer :-

10) X and Y can complete a job in 15 days working together. Y and Z can
complete the same job in 20 days working together. X and Z can complete
the same job in 30 days working together. Who is the slowest among the 3

workers?/X 3R Y T G Fd Fd g it srd Al 15 RAT A i aspd g1 Y 3R Z
TS 1Y HTd Hd 5T IH 20 o & JH o2 Tohd 81 X 3R 2 TP 1Y FTf H3a g 341 ot
o1 30 A T wed 8| A 4l & T99 o0 Sriemar 91 S 82

1. Cannot be determined/ﬁﬁﬁmww
2. X
.Y

4.7

Correct Answer :-
« 7

11) 5

6th of a number is 1440. What will One-third of that number be?,/ f5ft
5 1

<RSIT T 6 T WRT 1440 | I HE T 3 3 T T ENT?
1.576
2. 784
3. 688
4. 692

Correct Answer :-
« 576

12) How much time will it take for an amount of Rs.450 to yield Rs.81 as
interest at 4.5% per annum of simple interest?/450 F.Hﬁt{ﬁ?‘lﬁliﬂms% yfaad
TTYRUT TSl B &3 F 81 F. TS fha- GHI H gRIT?

1.5 years/STﬂf
2.4.5 years/4.5 a4

3.3.5 years/3.534



4. 4 years/4 GL

Correct Answer :-

e 4 years/4 GL

13) 10 years ago, Sita’s mother age was 4 times than her. After 10 years, the
mother's age will be twice than the Sita. What is the present age of Sita?/ 10

af qd <ftar <t af &Y 3y, W1 &t g Y 4 T <1 10 ad T1¢ AT F 3y T F g FY
SRET erft| <frar FY adu emg w82

1. 25 years/25 a4
2. 24 years/24 dY
3. 22 years/22 ¥

4. 20 years/20 Gl

Correct Answer :-

« 20 years/20 CL

14) A General arranges his soldiers in rows to form a perfect square. He finds
that in doing so, 60 soldiers are left out. If the total number of soldiers be
8160. Then the number of soldiers in each row is:/T® J-Rd 30 A1 B gof
it arelt ufey A orafRyd #var 8 | 3T = IR 98 UTaT & % 60 af s 9 afe ga afat
P IWAT 8160 ¢ dl TS Ufed & Afw! 1 T@ 8:

1.92

2.91

3.80

4.90

Correct Answer :-

15) If the numerator of a fraction is increased by 400% and the denominator
20

is increased by 500%, the resultant fraction is 27, What is the original

20
fraction? /4 T fUF BT 3 400% T ST TUT 8T 500% ¢ WY, TRomd R 27, 8|
o R Farg?

3

[l ]



11
3. 12

4. Cannot be determined/ﬁ%ﬁhﬁﬂﬁmwm

Correct Answer :-

16) =
A man loses 12290f his money and after spending 70% of the remaining,

he is left with Rs.210. How much money (in Rs.)he had at first?/ E&Téﬂiﬂﬁ

3T YT BT 122% W1 a1 8, T §T R BT 70% W H & 91¢ ITP U 210 F. AV FaT
21 AR™Y H 3T Uy fra +=.3?

1. 700
2. 800
3.9000
4. 900

Correct Answer :-

« 800

17) The batting average of a cricket player is 72 runs per inning. In the next
4 innings, he could score only 80 runs and thereby decrease his batting
average by 2 runs. What is the total number of innings played by him till last

match?/T® fhdbe RAaS] & Ud® Uil &1 3i¥d 72 39 ufd Ul 81 3nTa 4 urial # 98 $ad
80 31 & 941 I for® SuaT afe T i 2 39 ufd urdt R T enfet A9 a& 39 gR1
A T Fa yrivai &t T 1 9z

1. 88
2.92
3.104

4.72

Correct Answer :-

« 104

18) The numerical value of the profit % is equal to the cost price of a book
on selling it at Rs.96. So, how much profit (in Rs.)is there on selling it?/ T®

fPaa 1 5. 96 H U= A Wt yfa=rd a1 BT 3 SUBT GBITHS A 39 fhda & v g &
WIS 8| 39 fhare &1 399 | foraq 0 &1 a1y ganz?



1. 30
2.26
3.36

4. 60

Correct Answer :-

e 36

19) Find the smallest of the following fractions. /fFafefad fasl # 9 99 aid
A S

E
1, 37

17

2, 39

21

3. 67
21
4,43

Correct Answer :-

20) Find the largest of the following fractions./fAufaf@d il 7 @ @ 9t i
BICE 2

38
1. 71

50

2. 81

49
3, 87

63
4 117

Correct Answer :-



